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If the line 2x - 3y + ¢ = 0O passes through the point (1,1)
then ¢ =
AL —2 B. -1 C. O D. 1 E. 2

The equaticn of the line passing through (1,-1) and
perpendicular to the x—axis 1s

A. x — 1 =0 B. x + 1 =0 C. v — 1 =20

D. y + 1 =0 E. x +y =0

A circle has its centre at (3,4) and passes through the

origin. Its equation 1is

A. ®= + y=2 = 295 ‘ B. x2 + y2 — 3x — 4y = O
C. %2 + y2 = bx ~ 8y = 0 D. xZ 4 y2 + &x + 8y @
E. X2 + y* —~ bx — By + 25 = 0O

If d is the distance between the points (a,b) and (b,a),
then d= =

A. O B. a= + b= C. 2(a= + b*) D. (a—-b)® E.2(a—-b)*
In the figure, the equation of the straight line is

y = mx + c. Which one of the following 1s true 7 . ’

A. m > 0 and ¢ > 0 - i uzmXxXte
B. m > 0 and ¢ < O : ¢

C. m< O and ¢ > O j/////(/

D. m < 0O and € < O > > X
E. m > 0 and c = O :

I

The point P divides AB internally so that AP : PB 2 : 1.
The coordinates of A and B are (xi,yi) and (xg ,¥a )
respectively. The coordinate of P are

21X = 2y1 +Yy= ! l)(;, “"'ZX‘:: y:,+2\/'2
NS o

3 3 3 3
‘ A 1T X 2‘/_1,'“)/:: X1 —2Z2X= . YL-2Y2 : 9, .
3 3 3 s /7
XaitX= Yity=
- (525
3 3
The line x + y + k = O (k being @ constant) passes through
the centre of the circle xT + y? - 2x + 4y — & = 0, k =
A. -2 B. -1 C. © D. 1 E. 2 °
The equation of a circle is x= + y= = 2x + 3y — 7 = 0.

Which of the following is/are true ?

(1) The circle passes through the point (—-1i,1).

(2) The centre of the circle lies in the second quadrant.
{3) The circle intersects the x—axis at two points.

AL (2) only B. (3) aonly C. (1) and (2) anly

D. (2) and (3) only E. (1), (2) and (3)
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9. If a, bt and c are positive real numbers, which of the
(84) following graphs could represent the line ax + by + c
A. P? ' B. 4 . C. %
5 f?’x/o;/ —>
D. “P% E. -
B \ O s
5 X
[&] \\\\ 7
10. ~The distance between (1-k,k) and (2,1+k) is V28, k
(85) A. 4 B. & C. -4 ar & ‘D. 4 ar =6 E. -4 or
11i. The‘equation of the perpendicular bisector of the
(853) joining (1,2) and (7,4) 1is
A. 3Ix + y + 15 = 0O B. 3Ix + vy - 15 = ¢
C. Ix ~y + 92 = ¢ D. 3x -y — 9 = 0 E. x 3y
. ng_
12. In the figure, the circle passes
(BZ) through (0,0) and cuts the two (6,0)
axes at (6,0) and (0,-8). Its o
equation is _
A. XT + yT — I + 4y = 0
B. x= + y= + 3Ix - 4y = 0O
Cio %= + v= 4+ gx — 8y = 0
D. = + y= — 4&x + 8y = 0 Co,-2) B
E. X + y= — 6x - 8y = 0 '
13. The equation of a circle ig x= + Y= — 4x — 5 = 0.
(835) Which of the following is/are true 7
I. The circle passes through the arigin.
II. The centre lies on the X—axis.
III. The line x - 5 = © touches_the circle.
A. II only’ B. III only C. I and 11 anly
D. II and III only E. I, IT and 111
14. Which of the following represents a circle 7?7
(B&6) A. 2x= - 8y + 5 = ¢ __ B. 2x%® + y* - 4y - 3y

C. 3Ix= + 3y= - 's5x = 7 = ¢
1

E. x® + y= 4+ ZXYy + Ty — = 0

D. x2 - yv= - 7% -+ oy + 1
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In the figure, L, and Lz‘are two straight lines

perpendicular to each other and intersecting at P %
on the y—-axis. If the equation of L, is y = ax --5,/r
then the equation of L. is
. 1 T N _
A. v = — -x -~ 5 B. v = - -x + 5 @V5 .
a S a Lo 4° !
\\\\ : //{' |
C. y = -ax - 5 D. y = —ax + 5 - -%%
i
1 !
E. v = - —x
@ ‘ P
Which of the following straight lines divide(s) the ciréie
(x = 1)= + (y + 1)™ = 1 into two egual parts ?
(L) %o~y = 2 =0 (2) % + yv + 2 = 0 (Z) x = v + 2 =0
A. (1) only B. (2). only C. (3) only ;
D. (1) and (2) only CEL(Z) and (3) anly |
. |
The equation of a circle is 'x2 + y2 - 4x + 2y + 1 = Q.
Which aof the following is/are true 7
(1) The centre is (-2,1). ’
(2) The radius is 2 units.

(3) The circle intersects the y—axis at two distinct

. points.

A. (1Y only -B. (2) only C. (3) only

D. (1) and (2) only E. (2) and (3) anly

Two perpendicular lines Kx+y=4=0 and x—-2y+3 = O

intersect at the point (h,k). Find h and k.

A. h = -7, k = =2 B. h = -2, k = 1/2 C. h =1,k =2

D. h = -4, k = —1/2 E. h = -3, k = 2 .

The line y = mx + c is perpendicular to the line

y =3 ~ 2x%. Find m. i ' ;
A. 2 B. —-1/2 c. -2 D. 1/2 E. -1/3 '

i

Which of the following circles has the lines x = 1, §
X =3y, y =4 and y =8 as its tangents 7

A. (x—1)= + (y-4)= = 4 B. (x—3)= + (y-8)2 = 4

Co (x=3)F + (y—6)= = 4 D. (x=1)2 4+ (y-8)2 = 4
CE. (%=5)= + (y-4)= = g4

v c

In the figure, A(5,3), B(b,1) 3 PISEY

and C(c,l1) are the vertices of

4 triangle. If AB = AC, then

b + ¢ = :

A. 3

B. S

C. &6 _%

D. 8 BU’;‘) C:(C,?)

E. 10 ;

. 5 ,7\_;\‘/
ANSWERS )

1.0 2.A 3.6 4.E S.B &.B 7.0 8B. 9.6 10.D
!1.B 12.D 13.D 14.C 15.A 16.A 17.B 18.C 15.D -20.0

21.E
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